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Answer either Section A or Section B.
Section A: Homer
Answer all the questions.
Passage A1

““EBkTop, €Tel Pd\ dvwyas aindéa pvbioacbar,
oUTe N €s yalbov olT elvatépov Euméminy

v _5

oUT és  ABnvains é€oixeTal, évba mep dANaL
Tpoal évmAdkapor Setvnr Bedv IAdokovTat ...

2

Iliad VI, lines 382-385

1 Translate Passage A1 into English.

Passage A2
“...a\\" éml mopyov €Bn pwéyar 'Ihlov, olvek dkovoev
Telpeobal Tpdas, péya 8¢ kpdTos elvatr  AxaLdv.
T ey 81 mpos Telxos émelyopérn adikdrel
patvopévn éukuta: dpépet 8 dpa mailda TLOHYn.”

Iliad VI, lines 386—389

2 Why has Andromache gone to the great tower?
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Passage A3

N ToL 6 eV peldnoev dov és Talda oLoTh"
" AvSpopdxn &€ ot dyxL maploTaTto ddkpu xéovoa,

b4 2 b e ~ /7 34 e 34 9 b b b4 /7
€V T dpa ol ¢V xeLpl, €mos T €daT €k T ovopalev:

Iliad VI, lines 404-406

4  Where does this meeting between Hector and Andromache take place?

Put a tick () in the correct box.

A  atthe Skaian gate
B in Thebe under Mt Plakos
C in their home
D on the plains of Troy
[1]
5 How does Hector react when he sees his son?
..................................................................................................................................................... [1]
6  Write down and translate the two-word Greek phrase which shows that Andromache is upset.
Greek phrase English translation
[2]
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Passage A4

“Sarpovie, dBloel oe TO ooV pévos, ovd élealpetls

Taldd Te vnmiaxov kal €’ dppopov, i TAxa XNemn

oeb €oopat: Tdxa ydp o€ KaTakTavéovoly S Axatol

TdvTes ébopundévtes: épol 8¢ ke képdLov €imn

oeb abapapTovon x0ova dOpevar: ov yap €T dAN

EoTal BalmTopn, émel av o ye TéTRov émioms,

AAN' dx€e - 0U8€ pol €oTL TaTNP Kol TOTVLA piTNp.”

Iliad VI, lines 407—-413

7 How does Andromache show the despair she feels for her situation?

In your answer you may wish to consider:

¢ Andromache’s comments on her husband’s fate;
e Andromache’s concerns about her own future.

You must refer to the Greek and discuss any stylistic features such as choice, sound and position
of words.

Marks are awarded for the quality of written communication in your answer.
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Passage A5

kaTta & éxTavev 'HeTlova,
oUdé pwv €€evdpiée, oeBdooaTo yap T6 ye Bund,
AAN’ dpa pLv kaTékne ovr €vTeot daldaléoLoLy
nNo éml of’ €xeev: mepl 8¢ TTENéUS EbUTEVTAY
vipdat opecTiddes, kodpat Atos alyiLdyolo.
ol 8 pol €mTa kaoiyvnTol €éoav év peydpoloLy,
ol pev mdvTes 1o klov fuatt “Awdos elon-
TAvTas ydp kaTémedre moddpkns 81os S AXIAEVS
Bouoly € el\TOdedoL Kal dpyevvis oleooLy.

Iliad VI, lines 416-424

8 What relation is Eetion to Andromache?

9 kaTa & €kTaver Hetlwva,

9 / b / / A / ~
008€ pv €€evdpiée, oeBdooaTto yap T6 ye Bund,
Aa\\' dpa pv katékne ovv €vTeot datdaréoLoLy
NS éml ofp’ €xeev: mepl 8¢ mTENéAS EdUTEvoAY
vipdat opeoTLddes, kodpat Atos alyLdyolo.

How was respect shown for Eetion after he was killed?
You should make two points.
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10 ol 8¢ poL €mTa kaolyvnTol €oav €V peydpoLoLy,
ol pev mdvTes 1o klov Ruatt “Awdos elow-

What is particularly sad about the fate of the seven brothers?

11  What were the seven brothers doing when they were killed?

Put a tick (v) in the correct box.

A

Passage A6

drinking from the stream

looking after the cattle and sheep

milking the cows and goats

resting in the fields

af 8 6 mdis mpods kOAToV €uldroto TIOHYNS
exvhn tdxov, TaTpos dilov Gy dTvxBels,
Tapprioas xaikdv Te 8¢ Nodpov LmmLoxaltny,
Sewov am dkpoTdTns kOpubos velovTa vofoas.

12 Three of the following statements about Passage A6 are correct.

Iliad VI, lines 467—-470

Put a tick (/) in each correct box.

A

©OCR 2013

Hector’s helmet has a plume of horse-hair.
Hector’s helmet is made of gold.

The child faints.

The child is frightened.

The nurse is described as well-girdled.

The nurse picks up the child.
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Passage A7

“Sarpovin, i potl Tu Mnv dkaxileo dupd-

oV ydp Tis | vmep aloav avip “ALSL mpotdiset
polpav & ol Tvd dnuL meduypévov Epevat avdpdv,
0V kakdy, 00de ey EoONOV, ETNY Td TPOTA YévnTal.
A\’ €ls olkov todoa Ta o avTis €pya képuLle,
LoTOV T NAakdTny Te, kal dpdLmololot kéleve
Epyov émolxeoBar: moNepos & dvdpecaol pelnoet
Taow, épol 8¢ pwdioTa, Tol I éyyeydaow.”

Iliad VI, lines 486—493
13 (@) “Satpovin, pj pol v XMnv dkaxileo Bupdp:
oV ydp Tis W Umep aloav dvnp "ALdL mpoldiel-
potpav & ol Twd dnut medbvypévov Eupevat avdpov,

00 kakdy, o0de pev €oONOV, €Y Td TPOTA YéVNTaL.

How does Hector try to comfort his wife?

©OCR 2013
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(b) d\\" €is oikov todoa Td 0" albTiis €pya képLle,
LoTOV T Nhakdtny Te, Kal apdLmdlolol kéeve
Epyov émoixeoBar: mOAepos & dvdpecol pelfoet
maow, épol 8¢ wditoTa, Tol ~INe éyyeydaow.”
How do the choice and position of words in these lines help to emphasise what Hector is
saying to his wife?
You should refer to the Greek and make two points.

(c) What does Andromache do after Hector’s speech in Passage A7?
You should make two points.

©OCR 2013 Turn over
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14 Do you think Hector is right to reject the appeals of his wife and risk his life in battle?
Explain your answer.

You should make at least two points, supported by examples. In your answer you should refer
to the parts of Iliad VI you have read, and you may also refer to the passages printed in the
question paper.

Marks are awarded for the quality of written communication in your answer.

............................................................................................................................................................. [8]
[Section A Total: 50]
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Do not answer Section B if you have already answered Section A.
Section B: Euripides

Answer all the questions.

Passage B1

15

16

17

18

Nkw 8¢ Aedddv Tvde yfv, (v dpdalov
péoov kabilwr @oifos LpVESET BpoTols
Td T vTa kal péovta Beomilov ael.

Ion, lines 57

Who is speaking these lines?

..................................................................................................................................................... [1]
Where in Delphi does the action of the play take place?
..................................................................................................................................................... [1]
What is Apollo the god of?
Put a tick (v) in the correct box.

A beauty

B naval matters

C power and strength

D prophecies

[1]

Why did the speaker come to Delphi?
..................................................................................................................................................... [2]

©OCR 2013



Passage B2

13

Kupel & dp’ immetorTos NAlov KUK\®
TpodfTLs éoBaivovoa pavtelor Beod

Gy 8¢ mpoaBalotoa matdl vnTig

€fatpac’ el Tis Aehdidov Thain kdpn
\abpaiov 0dlV és Beod piar Sdpov,

Umép Te Bupélas Sopioal Tpbdupos M-
olkTe & ddfiker OPOTNTA - Kal Beds
ouvvepyos NV TO Taldl pn kmreoelv Sépwv - ...

Ion, lines 41-48

19 Three of the following statements about Passage B2 are correct:

Put a tick (/) in each correct box.

A

Apollo helps to secure the child’s safety.

The child is crying.

The child is wearing a golden bracelet.

The priestess notices the child as she is leaving the temple.
The priestess wants to remove the child from the sanctuary.

These events take place at daybreak.

20 Explain why the priestess is shocked when she first notices the child.

[3]

21 olkte & adfkev opdTnTA

Translate opéTnTa and state what caused the priestess to change her mind.

©OCR 2013
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Passage B3

22

23

VoS eV ovr OV dpdl Bopiovs Tpodds
NAAT aBvpov: ws & amnrdpdbn &€ uas,
Aeddol o’ €BevTo xpuvoodilaka Tob Beod
Taplav Te TAvTwY TLOTOV, ...

Ion, lines 52-55

Véos ev oty ov dpdl Boplovs Tpodds
nAaT advpwv:

What did Ion often do as a young boy?

Put a tick () in the correct box.

A play around the altars

B play with the other children

(o wander around all day

D  wander through the temple gardens

[1]

Aeddol od’ €BevTo xpuoodilaka Tob Beod
Taplav Te TAVTWY TLOTOV, ...

(a) When Ion grew up, which positions of responsibility was he given by the temple authorities?

(b) Write down and translate the Greek word which shows that Ion performed his duties well.

Greek word English translation

[2]

©OCR 2013
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Passage B4

lo. oV & €Eeodbns Tds kaoLyviTov pévn;

Kp. Bpédos veoyvor unTpos fv év dykdiats.

lo. Tatépa 8 arndds xdopa oov kpOTTeL XOovis;
Kp. mA\nyal Tpraivns movtiov od’ dmdlecav.

Ion, lines 97-100

24 Translate Passage B4 into English.

©OCR 2013 Turn over
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Passage B5

lo. Makpal 8¢ xGpds éoT ékel KekANEVOS;
Kp. T( 8 loTopels 168 ; ds W' avépvmods TLvos.
[w. Tipd ode IMHOLos doTparmal Te TTHOLaL.

Kp. Tupd; T( TLpd; pimot odelév od’ 18elv.

Iw. T( 8¢ oTvyels oU ToD Beob Ta dilTaTa;

Kp. 008év- Ebvold davtpolow aloxivny Tvd.

Ion, lines 101-106

25 (a) Why is Ion interested in the ‘Long Cliffs’?
You should make two points.

©OCR 2013
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(c) How do the choice and position of words help to emphasise Creusa’s reluctance?
You should refer to the Greek and make two points.

©OCR 2013 Turn over
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Passage B6

lo. Tod Beod kakodpat dodros eipl T°, o ylvar.

Kp. avddnpa mélews, 1§ Twos mpabels Umo;

lo. olk olda TANV év' Aoflov kek\peda.

Kp. fpels o’ dp’ avbis, o E€V°, dvTolkTipopev.

lo. ©s W €ld60” fTis W €Tekev €€ OTov T Eduv.

Kp. vaolol & olkels Tolold 1§ kata otéyas;

lo. dmav 8eod pol 86", (V' av Adpy p’ Umvos.

Kp. Tails & dv ddikov vaov i veavias;

lo. Bpédos Myovowy ol SokolvTes eldéval.

Kp. kal Tis ydhakT{ 0 €E€Bpese Aehdidwv;

lo. obmdTOT €yvov pactoév: | & €bpedsé pe ...

Kp. Tis, ® Takalmwp’; ds vooods” nupov véoovs.

Ion, lines 127-138

26 How does Creusa show her concern for Ion?

In your answer you may wish to consider:

e Creusa’s questions about Ion’s past and present circumstances;
e Creusa’s identification of Ion as a fellow-sufferer.

You must refer to the Greek and discuss any stylistic features such as choice, sound and position
of words.

Marks are awarded for the quality of written communication in your answer.
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27 Which character, Ion or Creusa, do you think is more harshly treated by Apollo?
Explain your answer.

You should make at least two points, supported by examples. In your answer you should refer to
the parts of Ion you have read, and you may also refer to the passages printed in the question
paper.

Marks are awarded for the quality of written communication in your answer.

............................................................................................................................................................. [8]
[Section B Total: 50]
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ADDITIONAL PAGES

If you use the following lined pages to complete the answer(s) to any question(s), write the
question number(s) in the margin.
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ADDITIONAL PAGES
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ADDITIONAL PAGES
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